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101.

102.

103.

104.

105.

106.

In which year was the Khunti district separated from
Ranchi?

(A) 2003

(B) 2002

(C) 2006

(D) 2007

Which among the following instruments is used to
measure and record details of an earthquake?

(A) Seismograph

(B) Variometer

(C) Sonograph

(D) Barometer

For which product “Pratyaksha Hastaantarit Laabh”
scheme was launched by the government?

(A) Water

(B) Liquefied Petroleum Gas

(C) Landline Phone

(D) Electricity

What percentage of population of Jharkhand state
practices agriculture?

(A) 95%

(B) 30%

(C) 80%

(D) 45%

Which among the following festivals is celebrated
ONLY in Jharkhand?

(A) Shivarathri

(B) Janmashtami

(C) Sohrai

(D) Pongal

The metal craft practiced by Malhar and Tentri tribes
of Jharkhand is

(A) Artisan

(B) Dokra

(C) Chikankari

(D) Azulejo

101.

102.

103.

104.

105.

106.
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FrefRrfR & & T ST T F e 7 F A
Tt 3 o e R ST 22

(A) FrerTh

(B) Afeinfiex

(C) HERITE

(D) FXrtET

TR G T EEATE A ST B e F
forw st i o7

(A) Tt

(B) Feita Terferaw |

(C) Av=ATZA ®IF

(D) forera

ST T § FT FTE FA AT SIEET F ATAT
FTE?

(A) 95%

(B) 30%

(C) 80%

(D) 45%

Fraferfara afterl & & Fiw &7 e e e § &
HATAT FTAT 272

(A) Forert

(B) SeHTEHT

(C) HrgTrg

(D) i

FrfrfRr & & 7 A e frew wer oA
STt g faT StTar 22

(A) foreT=T

(B) =T

(C) =Ty

(OEESE
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107.

108.

109.

110.

111.

112.

Which of the following Acts led to the division of India
into two independent entities, as India and Pakistan?
(A) Indian Independence Act

(B) The Mount Baton Plan

(C) The Wavel Plan

(D) The Government of India Act

Who among the following is the first woman governor

of Jharkhand who came into power as on June 20157

(A) Draupadi Murmu

(B) Urmila Singh

(C) Kamal Beniwal

(D) Prabha Rau

In which of the following waterfalls of Jharkhand,
Gautam Buddha is believed to have bathed?

(A) Dassam Fall

(B) Jonha Fall

(C) Hundru fall

(D) Hirni Fall

In which year did the Portuguese first arrive in Sri
Lanka, a neighbouring country of India?

(A) 1716

(B) 1515

(C) 1605

(D) 1505

What is the highest honour award given to civilians in
India?

(A) Padma Vibhushan

(B) Param Vir Chakra

(C) Padma Bhushan

(D) Bharat Ratna

Who was the last ruler of Mughal empire?

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Bahadur Shah Zafar

107.

108.

109.

110.

114

112.

Fraferfaa & & fr sfafam & siae: w1 3 e
THRTEAT AT A TTfhear % &9 7 Bl e am?
(A) ST Tea=aT afafa

(B) HTSE 2 TATAT

(C) aTaret T

(D) 9 weaTe Afarfaay

ST 2015 Fit FRafa F srqame, Feferfae & & s 6
wfEem Arcave € wgelt afEer qeadre ¥ w7 § g9y §
s §7

(A) st 7

(B) sfifer fig

(C) Fwrer sfeaTer

(D) w7 T

AETS 3 e STersoTe ¥ Ay & Arerar & B g iy
5 7 = o o2

(A) FeTH ST

(B) SfreT SrersreTay

(C) g=% ST

(D) f&zett srersraTer

qaTTett e e & vt AT e ¥ uSed der, st
T I?

(A) 1716

(B) 1515

(C) 1605

(D) 1505

T H AR 1 A7 S =re ety & e
T ATR?

(A) w Forsgoor

(B) TTH AT =%

(C) = s

(D) s @

T ATHTST FT ATqT 98 F19 971?

(A) srFaT

(B) wiEfifiz

(C) s o

(D) =T 2TE AHT
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x

113.

114.

115

116.

117

118.

Which of the following minerals is NOT produced in
Jharkhand?

(A) Coal

(B) Bauxite

(C) Iron

(D) Petroleum

Which of the following festivals is celebrated during
March-April and also known as “festival of flowers”?
(A) Sarhul

(B) Karam

(C) Jawa

(D) Makar

Which of the following waterfalls forms the highest
cataract in Jharkhand, falling from an average height
of 468 feet?

(A) Dassam Fall

(B) Hirni Fall

(C) Panch Gagh Falls

(D) Lodh Fall

Which among the following is the national animal of
Bhutan?

(A) Takin

(B) Fennec fox

(C) Karabakh horse

(D) Bison

Jharkhand state came into existence in the year
(A) 2001

(B) 1999

(C) 1990

(D) 2000

Which neighbouring country of India's national
currency is kyat?

(A) Nepal

(B) Bhutan

(C) Bangladesh

(D) Myanmar

113.

114,

115.

116.

117.

118.

et § &+ a1 afas arave § sarfia 78 gar
&?

(A) Frer

(B) afFTEE

(C) =g

(D) Agrferas

e & & Fi9 97 Aig) qr=-sre & aeEn § /ar
(A) |TTEg

(B) F

(C) Srar

(D) T

s 468 iz A F91E ¥ fe ¢, PR § &5
T SIS ALETS F TG T2 TATITT HT THAT FLAT 57

(A) ZOH STATITT

(B) fRt stersmr

(C) 9 18 ST

(D EICEEEEI

Frafofaa & & 919 |7 UF W &1 g 19 27

(A) ==

(B) e STHET

(C) FTr=@ =reT

(D) fastr

T o & ATeETe U Tg F w9 | sifeaed § 4w 917
(A) 2001

(B) 1999

(C) 1990

(D) 2000

A ¥ e o= 2o i i wqEn (F#E) T 22

(A) F9Ter

(B) sTzr
(C) FeATRr
(D) =
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119:

120.

121.

122.

128.

124.

Who elects the members of the Lok Sabha?
(A) Member of Rajya Sabha

(B) Chief Ministers

(C
(D

) Central Cabinet Ministers

) People of India

The capital of Jharkhand is

(A) Ranchi

(B) Hazaribagh

(C) Giridih

(D) Bokaro

Which neighbouring country of India has' Yuan |
Renminbi' as its national currency?

(A) China

(B) Nepal

(C) Bhutan

(D) Sri Lanka

In which of the following rivers is the famous Lodh
Fall in Jharkhand?

(A) Kanchi river

(B) Banai river

(C) Ramgarha river

(D) Burha river

Which Five Year Plan is ongoing in India?

(A) 10th

(B) Sth

(C) 12th

(D) 14th

Indian Standard Time is calculated on the basis of
which longitude?

(A) 82.5° East

(B) 82.5° West

(C) 83.5° East

(D) 83.5° West

119.

120.

121.

122.

123.

124.

1 T F GEEAT HT FIT T FqT 27
(A) TSI 49T F qEeT

(B) ety

(C) Ffrr Ffawre ¥ wi=fieror

(D) ATZT % ART
HTTEUS it TAETHT 4T §72

(A) TR

(B) EHTEETT

(C) frdis

(D) ST

AT o iy T Reor Y gt T (W) e
et 22

(A) =

(B) et

(C) e

(D) =freier

ArEe # fRwafafed § & fg 78 & wfrg v semama
ERELEYS

(A) =t 7y

(B) FTE 7T

(C) T & 7Y

(D) g&t 741

A 58 a0 FI WY G-y Frsar 79 6 22
(A) ===t

(B) wr=t

(C) arzeat

(D) Srazat

AT HTH T B oriae 3 aeme o afiarforg fm
STAT 82

(A) 82.5° g

(B) 82.5° ufam

(C) 83.5°7d

(D) 83.5° ufzry

V
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*

125.

126.

127

128.

129.

130.

Who is the Chief Minister of Jharkhand as on October
20157

(A) Tarun Gogo!

(B) Dr. Raman Singh

(C) Raghubar Das

(D) Virbhadra Singh

Which neighbouring country of India was known as
Burma in the past?

(A) Sri Lanka

(B) Pakistan

(C) Nepal

(D) Myanmar

In which year did Bangladesh come into existence?
(A) 1965

(B) 1971

(C) 1969

(D) 1980

Which among the following is the longest rivers in
India?

(A) Ganga

(B) Krishna

(C) Narmada

(D) Mahanadi

Which among the following is the financial capital of
India?

(A) Delhi

(B) Bengaluru

(C) Mumbai

(D) Ahmedabad

Who got the Nobel prize for peace in 2014?

(A) Shirin Ebadi

(B) Jody Williams

(C) Nelson Mandela

(D) Malala Yousafzai

125.

126.

927

128.

129.

130.

AT 2015 Fit Rl ¥ srgam srave F ger w5t w1
&

(A) T S

(B) =t. T iy

(C) TqaT =™

(D) Frewrs fig

TRwferfere & & wTa #7 Fr 7 TEIET 397 TR I F ATH
F SITAT SITAT 72

(A) Hetst

(B) wfeream

(C) Furer

(D) "= HTT

o o & ariveTaer wfRae & aman?

(A) 1965

(B) 1971

(C) 1969

(D) 1980

Traferfea & & #i o v s fr g et T4 22

(A) T

(B) T

(C) ¥t

(D) weTTEt

Freforfem # & Fiw v s i fsf e 82

(A) et

(B) sfregm

(C) g

(D) srHETaTS

2014 ¥ orif 3 forg Fraer e B8 s g an?
(A) forfi st

(B) st faferae

(C) Sewre HEwr

(D) AT T
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131.

132.

133.

134.

135.

136.

Which famous Indian cricketer is from Ranchi?
(A) Virat Kohli

(B) Mahendra Singh Dhoni

(C) Virendra Sehwag

(D) Yuvraj Singh

Which among the following cities is named as
"Thousand Gardens"?

(A) Gumla

(B) Latehar

(C) Godda

(D) Hazaribagh »

Which neighbouring country of India celebrates its
Independence Day on March 26?

(A) Bangladesh

(B) Nepal

(C) China

(D) Afghanistan i

Which of the following is the nahe given to India's
humanitarian relief operations in Nepal after the 2015
earthquake?

(A) Operation Safed Sagar

(B) Operation Meghdoot

(C) Operation Rahat

(D) Operation Maitri

Who appoints the Attorney General of India?

(A) Governor

(B) Chief Minister

(C) President

(D) Prime Minister

Which of the following neighbouring countries of India
is separated by Palk Strait?

(A) Sri Lanka

(B) Pakistan

(C) Afghanistan

(D) Bangladesh

131.

132.

133.

134.

135.

136.

e =1yt arediy e T a8

(A) fare Freft

(B) W&z fRig &t

(C) #¥z wrgam

(D) 77T g by
frarferfer & & e orex i "arests = ¥ A & ST
STaT 82

(A) =1

(B) wTaET

(C) gt

(D) g 008
Wmmmqﬁ@ﬁwzemﬁ‘ﬁm&wm
Y

(A) =TT

(B) Furer

(C) ==

(D) sTEATTREATT
#mﬁzms%w%mm%mﬂd’mw
ST (humanitarian relief operation) 3T T are fXam
AT AT?

(A) ST T AT

(B) #ATo¥erT Forga

(C) wifw¥erT Trga

(D) =rterT &=

AT F WETATIATT (AT STeeen) iy Fegfe Fi F7ar
27

(A) TrsT9T

(B) TewAY

(C) Trgafa

(D) werTee=t

AT 3 B T For Y T SerewsaeT (Palk Strait)
FIT e T 82

(A) et

(B) T

(C) TR

(O ELEIE
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137.

138.

139.

140.

141.

142.

What is the position of Jharkhand in the production of
iron ore in India as on Sep 20157

(A) First

(B) Second

(C) Third

(D) Fourth

Jharkhand Education Project Council was registered
on

(A) 16-Mar-2007

(B) 05-Feb-2011

(C) 12-Apr-2001

(D) 24-Jan-2003

The national language of Bhutan is

(A) Pashto

(B) Thai

(C) Dzongkha

(D) Amharic

The first Chief Minister of Jharkhand is

(A) Swaraj Kaushal

(B) V. C. Pandey

(C) Rama Jois

(D) Babulal Marandi

What is the code of Srilankan currency?

(A) SRD

(B) LKR

(C) INR

(D) SYP

The major part of the Sundarbans, the world's largest
mangrove forest, is located in which neighbouring
country of India?

(A) Bangladesh

(B) Sri Lanka

(C) Nepal

(D) Bhutan

137.

138.

139.

140.

141.

142.

ﬁwzmssﬁr%ﬁ%ﬁmmﬁaﬁgm
SeqT  ATETE FT S A 4182

(A) T

(B) T

(c) &

(D) =T

e T R afveg (Jharkhand Education
Project Council) %1 el fof T =17

(A) 16-Mar-2007

(B) 05-Feb-2011

(C) 12-Apr-2001

(D) 24-Jan-2003

T Y LA AT FAT 7

(A) TeaT (Pashto)

(B) aTS (Thai)

(C) sttt (Dzongkha)

(D) @rF=TfE (Amharic)

e ¥ Yo e wAT A 82

(A) TS FNAA

(B) . . aoT

(C) TrT STrEH

(D) ATegETer AT

SfYeiHTS ET HT FIS FE?

(A) TR AL

(B) T F AL

(C) € T AL

(D) T ATE
ﬁq%ﬁw%a%ﬂﬂﬁﬁav,gmﬁmmmm%
ey TSR der F o B2

(A) FiTETReT
(B) et
(C) et
(D) e
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143.

144,

145.

146.

147.

148.

Who among the following is the writer of National
Anthem of India?

(A) Bankim Chandra Chatterjee

(B) Rabindranath Tagore

(C) Ananda Samarakoon

(D) Hazari Prasad Dwivedi

In which of the following rivers the famous Dassam
Fall is formed in Jharkhand?

(A) Kanchi river

(B) Banai river

(C) Ramgarha river

(D) Burha river

In which of the following years, India Nepal Treaty of
Peace and Friendship was signed?

(A) 1950

(B) 1955

(C) 1960

(D) 1972

Which neighbouring country of India is connected
through the Nathu La Pass in the Himalayan ranges?
(A) Bhutan

(B) Pakistan

(C) China

(D) Nepal

Which of the following hills is also known as Morabadi
hill?

(A) Govardhan hill

(B) Tagore hill

(C) Lushai hill

(D) Rajgir hill

Which type of waste is polluting Subarnarekha river of

Jharkhand?

(A) Thermal

(B) Radioactive
(C) Domestic

(D) Bio degradable

143.

144.

145.

146.

147.

148.

ST ¥ T T F AGF HI 82

(B) Tt A1 &1

(C) wrraT T

(D) 7Ty srerre: fary

argve # Ruffag § B 78 & vg zaw s
AT 87

(B) =g T

(C) 7w 7 7Y

(D) Tt =t

Fraforfra & & P ad & s Avrer oty 7 3 |fer
(India Nepal Treaty of Peace ) ¥ g&amer< fam iy 42
(A) 1950

(B) 1955

(C) 1960

(D) 1972

Fraferfem & & s 1 #1 ar w2 3o R £
STORTT & ATAT- T FIT 2T g 22

(A) e

(B) uTfeaTT

(€)=

(D) Fmer

T T AT WRrET) g A & off St A 37

(A) e TETET

(B) & werdt

(C) e werE

(D) TR wETEt

FTede it gaAviET T4t F R T F erafare syt w7
wE?

(A) wer

(B) frenft

(C) =g

(D) Srafasfiwr
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149. Who developed the vaccine against Polio?
(A) Dr. Jonas Salk
(B) Dr. Edward Jenner
(C) Louis Pasteur
(D) Dr Har Gobind Khurana
150. Which of the following steel plants majorly contributes
to the economy of Jharkhand?
(A) Bajaj Steel
(B) Steel India
(C) Reliance Steel
(D) Tata Steel
151. P is the mother of K and K is the only sister of D. How
is P related to D?
(A) Mother
(B) Father
(C) Sister
(D) Aunt
152. From the given four following answer figures for the
question, which figure is the correct water image of
the given figure in the question?

®

z

BHd®

2
o
—

]

149. ﬁﬁﬁ%mmq—aﬁaﬂwﬁsﬁmmﬁﬁmw
(A) =t. ST |
(B) =t T=AE ST
(C) & T
(D) =t. 7T e g
150. ﬁqﬁ%ﬁwmwmg@w%mﬁmﬁ
apsferaresT § AT 21 27
(A TSt FT
(B) = 3=
(C) fama® &=
(D) 2Tt ¥
151. P, K &1 wrar & ST K, D &tz 72 &1 P F1 D & &1
T HEH B2
(A) wTaT
(B) forar
(C) ==
(D) ==t
152.w%ﬁrq,ﬂn€wﬁqﬁﬁﬁwmﬁwﬁﬁ%m
ﬁa@fﬁ,wﬁﬁﬂ%mﬁaﬁmaﬁ(m-@w)
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159

154.

155.

156.

In three coloured boxes — Red, Green and Blue, 108
balls are placed. There are twice as many balls in the
Green and Red boxes combined as there are in the
Blue box and twice as many in the Blue box as there

are in the Red box. The number of balls in the Green
box is

(A) 18

(B) 36

(C) 45

(D) 54

Which number will complete the series if filled in the
blank spaces?

$:1,4.:8,9,27, 16, ......

(A) 32

(B) 64

(C) 81

(D) 256

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out
the missing term.

21:3::5714:7

(A) 23

(B) 82

(C) 97

(D) 113

Meena said, “Sudhir is the son of my father-in-law’s
only son”. How is Sudhir related to Meena?
(A) Husband

(B) Brother

(C) Son

(D) Nephew

1563.

154.

155.

156.

T, 8¥ A e &1 3 e et &, 108 &t wlit 7€ F)
Y AT FrFT W R €7 F T aie Ao at § v
It & SRET & A ot it # et Tt 18 € 39 A
Tt SRET €1 gL it & ater it Fear Bhat § 2

(A) 18
(B) 36
(C)45
(D) 54

Foeh T & ¢ ST T A &Y ST g # g 67
1,:0,4,8/9, 27 16 .......

(A)
(B)
(c
(D) 256

Frafora wer &, o2 Fi ard s Rw 1w s (@
FERTCHF) T % 519 F5 g & 32 30 are e faw o
21 qaT F fir o ) wee 210 F 7€ A Ry uw e
HIS[E EY 81 T8 U A R w10 s % avey v Reew
= # {3 T 81 9 e F1 9 FeF St 1w

T q4T AT

32
64
81

)
)

21188747

(A) 23

(B) 82

()97

(D) 113

HYAT 7 T, ‘T Y T F TS O w7 O g1 g
T HiAT & 4T gy g2

(A) iy

(B) g

(ke

(D) swf=IT
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157.

158.

159.

In the following question, two words are given. These
words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.

Much : Many :: Measure : ?

(A) Count

(B) Measures

(C) Calculate

(D) Weigh

Select a figure from among the four alternatives,
which when placed in the blank space of the figure in
the question, would complete the pattern.

2
\\\
L/

-

(©)

"I

Which of the words is different from the others by its
meaning?

(A) Bud
(B) Branch
(C) Leaf
(D) Plant

157.

158.

159.

ﬁaﬁﬁﬁwﬁ%s@%w%n%wmﬁa
ﬁﬁ(ﬂmﬁmm‘%ﬁm%@mﬁwqﬂ%%
ﬁwgl@msmﬁmwimzﬁasrsﬁ%mm
e ST AR s R e f 8 O or=g FT FAT
ﬁﬁq,ﬁmﬁﬁﬁreﬁaﬂrﬁ%maﬂé’r%ﬁmﬁ%
2y o1 §

rfer « wge o TR ?

(A) Freeft

(B) FTE

(QEEES

(D) 7w

rerforfir se et & T ST 7 T, AT

3 81 w8 st 3 Frh e # 7@ 9 o, e AT
FA|

e

?
.\\
e

™

(©)

"I

T AT or5% AT 9 ¥ ST 0T 9 9reat 7 A 57

(A) s
(B) @@t
(C) T

(D) e
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160.

161.

162.

163.

Find out the pair which is different from the other
given pairs.

(A) Mason-Wall

(B) Tailor-Dyeing

(C) Cobbler-Shoes

(D) Farmer-Crop

Twice a number decreased by 2.5 is equal to the
same number increased by 3.2. The number is

(A) 2.5

(B) 3.5

(C) 5.7

(D)7.5

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out
the missing term.

CLOSE : DNRWJ :: OPEN : ?
(A) RZWR

(B) PRIQ

(C) RPJB

(D) PRHR

Which of the words is different from the others by its
meaning?

(A) Barometer

(B) Thermometer

(C) Diameter

(D) Lactometer

160.

161.

162.

163.

I L HT AT R AT 0 10 ey st & far )

(A) T=IRIT - f=a

(B) &t — @g

(C) wrft - =¥

(D) foraTe — wEer

TF HEAT F SR § F 2.5 F7 HLAT I HeAT § 3.2 7@
F T EIAT B TEAT 4T 22

(A) 2.5

(B) 3.5

(C)5.7

(D)7.5

o wor &, o Y aré & R o s (@
STETTCF) UE F A Fg g4 & oA T ATE A Ry
2 R % = oft FEt Hee &) 2 ¥ g A R T uw ae
AINE 7E {1 T T A R T s 6 Ay v e %
=7 F fa m §1 wE Rrew i ww w0 aquiied uw
T TAT )

CLOSE : DNRWJ :: OPEN : ?

(A) RZWR
(B) PRJQ
(C) RPJB
(D) PRHR

T AT 9o AT 1 F AT 9T A7 9] & ey §2

(A) FHTeT
(B) wrwfdfiex
(C) =amHieT
(D) FHRHIET
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x

164.

165.

The qﬁestion consists of five figures followed by four
other figures. Select a figure from these four

alternatives which will continue the same series as
established by the five figures in the question.

AP
(A ]
P
(B)
Ht
©
D
(©)
H

A diagram is given here in which bricks are arranged
in a certain manner.

In the following question the number of bricks
touched by a certain brick is asked.

Brick A touches how many bricks?

e
/ S
4 A
B ' // '““i‘
| L/
< i f
E p 1r
(A) 2
(B)6
©)5
(D)4

164.

165.

o & utsr st &t T € S Ao =9 s st
A € F) 5 =7 et § & U AT F AT HESAAT
F &) 7€ ut=r Tt ST ST JEe F1 S W@

| ot it
A
DK
®)
DI
© ?
DI
)
Pt

gt e v Y- e w & e €2 9 o e
1 et = g

Fraferf wr # <9 €31 i wer & v 2 5 o o
£z vt gt §1

£z A Bl €31 i oaef Fdt 82
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166. In the following question, two words are given. These

words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same

relationship to the third word, as the first two bear.

Flow : River :: Stagnant : ?
(A) Rain

(B) Stream

(C) Pool

(D) Canal

167. If thrice A’s age 6 years ago is subtracted from twice

his present age, the result is his present age. His
present age is

(A) 9 years

(B) 11 years
(C) 17 years
(D) 18 years

168. In the following question which number will complete

the series if filled in the blank spaces?
4T, 12,1928 ......

(A) 30

(B) 36

(C) 39

(D) 49

169. If A is to the south of B and C is to the east of B, in

what direction is A with respect to C?
(A) North-east
(B) North-west
(C) South-east
(D) South-west

166. o wr # 2 a=g R g &) F arsa s fi=

farfSrmarstt a1 FRTATSH ¥ srqETe et w7 H uw @ &
TR §1 Ueh o1 reg TR T ) wge &Y arsRt A= A
Ferer T FIfory 3 Ry U faent & & UH orsg T 99T
o, ForerehT weer 1EY oreg F | 44T & 7, FET TgA
a7 qreat # {1

waTg : A4t R 2

(A) 7wt
(B) &
(C) 1=

(D) 7ex

- AT AFT 6 a9 g ¥ 3y w7 A7 AT ST FGAT A F

R H T S § A7 Ao § Sy adu g
9T Bt 81 IHHT AT A FAT Y ?

(A) 9 T

(B) 11 ¢

(C) 17 ¥

(D) 18 7

- T e & R e W o w1 A o e e i

I FEA?
4901219128
(A) 30

(B) 36

(C) 39

(D) 49

CARA BFROMFTAC, BFEHE AT C Haast

A T fRem & 7
(A) SeT g7
(B) 3v< - afary
(C) =fror — 7%
(D) =f@ror — wfary
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X

170.

172,

173.

A'is thezmother of B. B is the only son of C. How is A
related 19 6?7 ’
(A) Husband -

“ 5ol% 1!
(B) Witg & 5
(C) Daughter

(D) Cannot be determined

. In the following question, two words are given. These

words are related to each other in some ways

according to their differences or commonalities.

Another word is given. Find out the relationship

between the first two words and choose the word

from the given alternatives, which bears the same

relationship to the third word, as the first two bear.
TERE T

Smoke : Pollution :;War : ?

(A) Victory

(B) Treaty

(C) Defeat

(D) Destruction

Ais the father of B. B is the father of C. D is the

daughter of C. How is C related to A?

(A) Grand-son

(B) Grand-daughter

(C) Great grand daughter

(D) Cannot be determined

In the following question, four words are given, out of

which three are alike in some manner, while the

fourth is different. Select the option which indicates

the different one.

(A) Geometry

(B) Algebra

(C) Arithmetic

(D) Mathematics

170':’:2‘-’?%%%‘192&;?? F%‘lAﬂC%WW a

171.

172.

173.

m%‘?'f:‘i smo2 f1i 1
(A) T3,

(ORIES

() T,

(D) Fgrifia 72 #7 a7

Frafifeg we § 2 a7 R T 1| ¥ e o A

A RrTE AT AT ¥ AT e w5 § o e &
d?@?r%@ws\ﬁﬁmw%mgﬁa‘rwﬁ%aﬁ?m
e ST S el R o et # & TH 0T 1 FAT
ﬁﬁt,ﬁwﬁﬂﬁm%whﬁ%ﬁmq‘gﬁ
2 9r=at 7 2

o : Tguur A 0 ?

o NS

(B) &t

(C) TS

(D) fa=mer

A, B %7 R 1 B, C F7 frar 21 D, CF Tt 81 91 CHT
A FT9 T qEER §7

¥ 3

(B) 9

(C) st

(D) FRraffea & w7 7

Frerfarfar wor % =7 9= Ry o €, R & fiF 5=

8 B T Sy ¥ wath e oo g1 9 e w1 AT
FL ST FAT B

(A) TETIfoTa
(B) dfrwmifora
(C) st=fora
(D) T
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¥

174.

175.

In a class there are 18 boys who are over 160 cm tall.

If these constitute three-fourths of the boys and the
total number of boys is two- thlrds of the total number

of students in the class, the number of girls in the
class is

(A) 6

(B) 12

(C) 18

(D) 24

From the given four following answer figures for the

question, which figure is the correct mirror image of
the given figure in the question?

il

(A)

(B)

| ([

(©)

Ve |

g | =

©)

174.

175.

UF HET H 18 WEH & 9 160 FdefieT 7 srferw oy ) 7y
I AHT HT AA-HATE AT Y 3R Fear § A=A A FA
T, gt g dedr # -t & 9 wer § aefet
# g faadt 82

(A6

(B) 12

(C) 18

(D) 24

w1 ¥ o Pl T st o § &, s d S
STFi it we (T FfE) f-gie sl e @t 82

()

=
1

(©) q

=
1=

(D)
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¥

176.

1

178.

179.

K walks 10 km towards North. From there he walks
6 km towards South. Then he walks 3 km towards
East. How far and in which direction is he with
reference to his starting point?

(A) 5 km West

(B) 5 km North-east

(C) 7 km East

(D) 7 km West

You are facing east. You turn 100° in the clockwise
direction and then 145° in the anti-clockwise
direction. Which direction are you facing now?

(A) North

(B) East

(C) North-east

(D) South-east

In the following question which number will complete
the series if filled in the blank spaces?

9, 27, 31, 155, 161, 1127, ......
(A) 1135
(B) 1288
(C) 2254
(D) 2885

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out

the missing term.

26:5::65:7
(A) 6
®)7
©)8
(D)9

176.

17

178.

179.

K" R A 10 Fanft wer 1 1@t & v <o e
6 Feft =reram &1 3% e 7w 3 At o F =rerer 21 oy
TTCR-Erer o el & g faereit g ofe vy Ramr 7 22

(A) 5 fadt afarm

(B) 5 Y I

(©) 7 et g

(D) 7 foefY afirer

a9 O ¥ 3 Wy T @ ) A afRrorrat fow & 100°
A AT arTEe fRem F 145° wma F) ot aww P o &
WRE?

(A) 39T

B) ™

(C) 3a-rd

(D) =feror-gF

e g % Reep = & s o o= i #ft wrear e #
I FEA?

9,27, 31, 155, 161, 1127,
(A) 1135

(B) 1288

(C) 2254

(D) 2885
et v &, 2 ar€ o Ry o s (@
HFTCHF) T2 F A 5 "eier § o< 7% 278 e Ru aw
2 3t F e oft wEt gty ) 2 ¥ arE S R T v T
HioE 7 )1 78 5 A9 R 1w v ¥ ave v fwer F
= R v &1 7€ Revew &1 w77 w15 safRaT 0w
T q4T AT

26:5565:7

(A) 6
|7
©)8
D)s
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180. In the following question, four words have been given,

181.

182.

out of which three are alike in some manner, while
the fourth one is different. Select the word which is
different from others.

(A) Cumin

(B) Groundnut

(C) Clove

(D) Pepper

If Neena says, “Anita’s father Raman is the only son
of my father-in-law Mahipal”, then how is Bindu, who
is the sister of Anita, related to Mahipal?

(A) Grand-daughter

(B) Daughter

(C) Niece

(D) Wife

In the following question, out of the four figures, three
are similar in a certain manner. However, one figure
is not like the other three.

Which is the figure that is different from the rest?
(A)

(©)

©)

%
I
o

180.

181.

182.

e war # =12 ares Ry g &, Bt & A7 32
T & TF qH & St = e §1 39 Fewew F =ww
L S o &)

(A) st

(B) el

(C) =

(D) reft farst

Tfy AT Fgdt 2, “aretar ¥ oy o 37 g affee
THATT T &) A fog, S arefan it a2+ &, Ao &
T Haterd g2

(A) o=

(B) T

(C) st

(D) of

Pl v &, 9 ssfat & §, 9 o it i
F THTA E| GTATT, Teh ATHef, T A At F qH
T2

FET rFfa ATt sTFfaAr & e 32

(A ;

(B)

©

Ol P

— e

(D)

=&
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183.

184.

185.

In a family the father took % of the cake and he had 3
times as much as each of the other members had.
The total number of family members is

A3

(B) 7

(C) 10

(D) 12

Out of the given figures three are similar in a certain
way. One figure is not like the other three figures.
Spot the figure that is different.

) :@]
®) :_(—\E]
-

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out

the missing term.

122 w257
(M1
(B)2
(©6
7

183.

184.

185.

Qﬁwffﬁmﬁﬁm%mﬁwmrmmw
mmmmm%ﬁmﬁr%ﬁwwmﬂﬁmw
3 wraedt 1 3 "e Tt 82

A3

®7

(C)10

(D) 12
ﬁﬂ%a@ﬁﬁﬁ%?ﬁﬂwﬁﬁ@ﬁfﬁﬂaﬂ%%m

%@aﬁfﬁrmmwﬁﬁ%maﬁf%wm
mwmsﬁwwﬁ%ﬁﬁr%l

* E

(B)

©

()

SrefarfR v §, : $¥ ard A< Ry 1w HHE (@
W)W%ﬁagﬁmgaﬁtmar%mﬁqm
21 St ¥ e oy A dee &1 ¥ arE A R T v e
Waﬂ%ngwﬁ%ﬁqu%ﬁwqmﬁm%
wﬁﬁmw%laﬁﬁﬁwmmﬁmw
T TAT ATG

121 :12::25: 2

QN
(B) 2
(O
o7
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186.

187.

188.

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out

the missing term.

acE : bdF ::fhd: ?

(A) giK

(B) ghk

(C) dfH

(D) fhL

In the following question which number will complete
the series if filled in the blank spaces?
2:4.12,48,......

(A) 96

(B) 105

(C) 240

(D) 296

In the following question which number will complete
the series if filled in the blank spaces?
0:5:0-55:0.66.10.8. ...

(A) 0.9
(B) 0.82
©1
(D) 0.95

186.

187.

188.

et oo 7, Y arg A Ry T s (3w
SERTe) T F 1 g aaw & o e arg A R
3y qat ¥ e oft ey e 21 o ¥ wrd A T T uw 0w
qﬁvﬁaﬁgna—ﬁiw:ﬁ%ﬁr{mw%mﬂ@ﬁw%ﬁ
= 3 T T ) TR R AT Fh S redd 9%
T IET TG

acE :bdF ::fhd: ?

(A) giK

(B) ghK

(C) dfH

(D) fhL

ey o7 % Poep eTey # WX ST 9 H Y HEAT e F
T FAT?

241248, ...,

(A) 96

(B) 105

(C) 240

(D) 296

e o & T T § WY ST G F I A HGAT @ F
T FEAT?

0.5, 0.55, 0.65, 0.8,
(A) 0.9

(B) 0.82

(©)1

(D) 0.95
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189.

190.

191.

A diagram is given here in which bricks are arranged
in a certain manner.

In the foIIoWing question the number of bricks
touched by a certain brick is asked.

Brick D touches how many bricks?

P
P

_‘{.‘},E__}L;/

#

(A)3

(B)5

(C) 4

(D)6

In the following question, two words are given. These
words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.

Oxygen : Burn :: Carbon dioxide : ?

(A) Isolate

(B) Foam

(C) Extinguish

(D) Explode

X starts walking from the place ‘A’ 4 km east and
reaches place ‘B’, then turns right. After going 3 km
straight he stops at the place ‘C’. The distance
between ‘A’ and ‘C’ is

(A) 4 km

(B) 5 km

(C) 6 km

(D) 7 km

189.

190.

191

Tt fir v Y- o Rl £ uw Rfem
& | AR T T gl

Freferfaa wr § 39 21 it dea & € § S v e
= o T 1

2z D frat €2 1 el wdft 27

(A) 3

(B8)5

©)4

(D)6

Fraforfm wor # 2 osx Ru g 21 3 gm0 i
FafRrerastt o wwTearet F se G = § uw g
HATT E1 U T orex AT AT §) R A 5=, F AT A
HaE 1T HIT A Ry 70 fBreedt & F 0% o157 7 997
o, R weer fia¥ orsz % arer a4 € 8, S w2
2T oreat H

AT : STEAAT 22 FTAT STEAFATSE : ?

(A) TZET
(B) ®rw
(C) g=rTeT
(D) FFrEsre

X, ¥ A’ & 4 Freirefie O & o 9% 7T £ 6w
T ‘B’ U UEAAT §, THF A% aTE AL G |77 2)

3 Fretrex ®1er ST % &Te 98 9 'C’ U wFAT 21 A
s 'C ¥ ot it g et 872

(A) 4 feY

(B) 5 fadT

(C) 6 f=ft

(D) 7 f3t
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192.

193.

In the following question, four words have been given,
out of which three are alike in some manner, while
the fourth is different. Select the option which
indicates the difference.

(A) Curd

(B) Qil

(C) Butter

(D) Cheese

A, B,C,D,E, F, G, Hand I are nine houses. C is

2 km east of B. Ais 1 km north of B and H is 2 km
south of A. G is 1 km west of H while D is 3 km east
of G and F is 2 km north of G. | is situated just in the
middle of B and C while E is just in the middie of H
and D.

What is the distance between B and H?
(A) 0.5 km

(B) 1 km

(C) 1.5km

(D) 2 km

192.

193.

Rt o e o ey e &, vt & v
TEF ¥ UF G § i JrT ot g1 39 Fhew #wv g
FX ST ST g

(A) =

(B) &=

(C) wFaT

(D) s

A, B,C,D,E,F,G HsRIdTaw§l C, B ¥ 2 it o
HRABF 1o ednH AT 2Pl =
FTHAZ G HF 1 At moRBm 5= D, G ¥
3 @A F, GH 2 frwesda1,B
FTCFaeg H Ruq g aF E, HAR D HoF g § 3

B & H 3 i o 78t T 22

(A) 0.5 faet
(B) 1 fft
(C) 1.5 foreft
(D) 2 ety
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194. The question consists of five figures followed by four 194, w1 § wi= arptaat €1 s & s wre = o srFfaat
other figures. Select a figure from these four & T AR ﬁ’ﬁ‘ﬁ & & T Al F A FL AT
alternatives which will continue the same series as # 4 € it sgfa g e Eer 1 s T
established by the five figures in the question.

(A) ()
B b
(B) (8)
d d
(©) % (©) %
(D) (D)
O ™
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195. The question consists of five figures followed by four 195, o & wiwr sgfaat & wé & Rren arer 1 9w wrgfat

other figures. Select a figure ffqmv'the_se four & 7 #3797 et § & OF S FTAqT B ST
alternatives which will continue the same series as ¥ 4y ¢ it gt Ty e e ﬁv{rﬁ &
established by the five figures in the question. : i
B -io-at -g-10-8--f
L3 0 O Bhheiswriim O
o0l 0|88l 0 0D e oo Bl
- -] s RS e o o T o
0 ic o 80 basal B
(A)
(A) o o : Bl
P T 1S 1)
® g B o .
=l = 3 UC:I
0
©) 7 () 0
A B
[ I 0
0
D
) 2 (D) 0
£ 8
0
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196. In the following question out of the four figures, three 196.

are similar in a certain manner. However, one figure

is not like the other three.

Which figure is different from the rest?
(A)
Ko
b
(©) F
(D)
25
197. Select a figure from among the four alternatives, 197.

which when placed in the blank space of the figure in
the question, would complete the pattern.

ﬁ'ﬁﬁﬁﬁwﬂfﬁlwmﬁﬁﬁ@ﬁ%ﬁﬁﬁ
Wi SR

et ot STy AT SRR ¥ o 22

(A

®) q
© F
“Iae

FraforRa = freredt & & w sl &1 4w ¢, 5w

# & % s ¥ o o # W@ o, e g
FGM

A

(B)

©)

"N
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198. A solid cube of each side 8 cms, has been painted
red, blue and black on pairs of opposite faces. It is
then cut into cubical blocks of each side 2 cms as

given in this picture below. Observe this picture

carefully and answer the question by selecting the
correct options.

How many cubes have 2 faces painted black?
(A) 0
(B)2
(C) 4
(D)8
199. Select the word which is NOT similar to the other
words in the group according to its meaning.
(A) Animal
(B) Man
(C) Worm
(D) Hammer

200. In the following question, two words are given. These

words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.

Tuberculosis : Lungs :: Cataract : ?
(A) Ear

(B) Throat

(C) Skin

(D) Eye

198.

199.

200.

FeIF 8 HEHIET Wﬂﬁ@ﬁ%ﬁ%é{)‘d%%ﬁ%
SYET q wrer, A i e o e B &) e
i fam o G # gerte sqeme werd 2 SfieT oy are
T sette § Frer T g1 =9 B Ay e ¥ 3 s "y
Faeredt 1 =79 F0h W % ST

T =T % 2 Tedt ox e o BT ger £7
(Ao

(B)2

(C)4

(D)8

I AT HTHIT HL ST AT A F ATA TG F 44
9TsaT % T 51 8l

(A) g

(B) =%

(©) 7w

(D) g¥ft=t

Fraferfe wor # < a== R 1 3 orsg svw i
Fafrsraeit 2T aRTAETEr % aqETe fhT €7 7 U gEe d
AT § U e area TR AT {1 uge ¥ oAt F i #
L ST F2 i R 10 Feat & F U9 sz F7 797 F9,
et gater ey o= ¥ qrer 497 £ €, ST 98 & oreat
T2

Totes ; whg o Wi ;2

(A) T
(B) =T
(C) ==

y

(D) sitar
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Instructions / et

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and
Question Booklet Series on the OMR Answer Sheet
carefully and sign at the appropriate place. Please note
that in absence of the correct Roll number, Question
Booklet Number and Question Booklet Series and

Signature on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/ Room Invigilator and

instructions given on the Question Booklet.

3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material or
involved in copying or impersonation or adopting unfair
means or behaviors will be disqualified and may be

subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 200 questions and the total
time allotted is 180 minutes. All questions are compulsory
and carry 1 mark each. Every correct answer will get 1
mark and 0.333 mark will be deducted for each wrong
answer.

5. The candidates must check that the Question Booklet
has 200 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,
so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

7. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for
each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are

given in the example below:

Correct Method

0000

Wrong Method

o) Jo

0Q00
0®00
00®@O

8. Use black ink ball point pen for filling the boxes and
darkening the circle on OMR Answer Sheet. Do not use

pencil.

9. In view of the limited times span, do not waste your
time on a question which you find to be difficult. Go on
solving questions one by one and come back to difficult

questions at the end. It is only an advice.

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any discrepancy

in either of the versions of question is present then that
question will be cancelled.
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